SUNSTAR http://www.sensor-ic.com/ TEL:0755-83376549 FAX:0755-83376182 E-MAIL:sz2ss20@163.com

LRN Honeywell

5
( )
40°
( )
50g for 11 ms
35~500Hz
0.5m
.6
-30°Cto -30°Cto -30°C to
+130°C +130°C +110°C
SG 0.85 0.85 0.65
100 100 100
(centipoise)
at20 and 100 RH 1.3% 5.6% 0.03%
at100 and 100 RH 1.6% 5.6% <0.5%
180°C 245°C 105°C
4.5kg/cm?(67.6psig)
. 100W 1 2 3 4 5
. SG  0.65 , SPST  SPST SPDT SPST TRIAC  TRIAC
. (VDC) 100 100 100 100
. (VRMS) 120 250 70 120 250 250
A 1.0 1.0 0.50 3.0 3.0 1.0
DC W |kl Sl Rkl 100*** 750 250
VDC 300 800 200 400
Ohm 0.25 0.25 0.25 0.75
*
90° o 6.6
6.6 sk
LRN DC

) 6 2 e 5
. Lt i
i .
| I i {oF
LRNH31S42
LRNH51S842

Honeywell/Commercial Switch&Sensor

At 208400
= - - = - = =VATE . SZ55ZUWIUO . CUIT



LRN

SUNSTAR

http://www.sensor-ic.com/ TEL:0755-83376549 FAX:0755-83376182 E-MAIL:sz2ss20@163.com

Honeywell

LRN

H B B HBO-EHDOR

1
\%
R
H
3 6. (-30~130 )
4
3
S.P.S.T120Vrms/1A(15W)
1 S.P.S.T.250Vrms/1A(15W)
2 S.P.D.T.70Vrms/0.5A(3W)
3 S.P.S.T.120Vrms/3A(100W)
4 trac 250Vrms/3A
5 trac 250Vrms/1A
4
S Silicone
N Nitrile
5
0 M16 X 2 internal fit
1 M16 X 2 external fit ( )
2 1/2" NPT external fit
3 1/4" NPT internal fit
4 Universal kit (internal and external assemblies)
6
1 0.5m PVC
2 2m PVC
3 5mPVC
4 2m
7 8
2.0ib ft(2.67Nm) 0.16ins (4mm)
1
(12 NPT) 5.0ib(6.75Nm) 1.00ins (10mm)
2
3.0ib(4.0Nm) 0.394ins (10mm)
(1/2" NPT)
5.0ib ft(6.75Nm) 0.50ins (12.7mm)
3.0ib ft (4.0Nm) 0.12ins (3mm)
2
*15°
( )
+30°
( )

Honeywell/Commercial Switch&Sensor

Notes

1 The compression grommet is suitable for a seal pressure of70 psi 2
Whenusingal/2NPT extemal fit verBion the container wall thickness must
not exceed thelength ofmale thread section of thewitch Some pipe fittings
have a small diameter out6ide the thread area which will re8trict entry
ThiB switch is de8igned to pass through a 1/2” NPrtap drill 0 7180"
diameter Because the mOunting bu8h is usually metal and the switCh i8
u8uaHy moulded plastiC care mu8t be taken when using the 1/2” or 1/4”
NPTversions not tOOver tighten since thi8 will cau8e damage to the switch
A sealant such as PrFE tape should always be USedOn the NPP verslons
Ensure that the positionOrientatlon arrOw on thel/2” NPrversionls vertical
3 The fLoat as8embly on the horizontal mOdels shold neverbe removed
since this will the switching characteristics.
4. TO reverse the witching action on horizontal model simply rotate
throughl80 observing orientati on inde Cator or arrOw  On vertiCal and
right angled models cOmpress the noat8tOp arms remove and reverse
the float and reassemble Movement ofthe noat i11 the direction ofthe

position indication arrow closes the switch contacts at the end of float travel

At 208400
= =VATE . SZ55ZUWIUO . CUIT



http://www.sensor-ic.com/ TEL:0755-83376549 FAX:0755-83376182 E-MAIL:sz2ss20@163.com

SUNSTAR
Honeywell
inch(mm)
LRN-
- Container wall Lock washer
Fixing nut x
0.94 ATF 0.51. 078 S \\——f
e 9 0.94 A/F
r} \ IR Lt Y 50 o Fixing nut
N RN -
1
Thread m16 - 1
0.39 AF x 2 pitch (87,
(10) Eee— 515 0.39 AF
an
' 3.4
, 3.4 T87,59)
Friction (87, 1
relief washer Contalner wall
o0k aber Position
nrd g orientation Gt ook
— indicator .
Position ) ) "
@ ?Jé?é’;?ﬂ? " gr%ar:;r:r?etl:ompressmn Fixing nut Container wall
Hole @ 0.90 The installation hole should Hele @0.65 Tha installation hole should
{23} be deburred and clean (16,5} be deburred and ciean
Installation hole size Installation hole size
1/2" NPT 1/4" NPT
0.35
— '
0.98 AFF 0016 (0,4) high ’ /" 1.59
0.08 (2,0) wide: \\\ : (40,3)

.39 Fixi
Position (10.0) Fixing 2.03 (51,59)
orientation {73,6) 2.73 max.
arow {6a.24) —
Container 3.46
wall Lock (87,89)

Container 4, N
wall [ 102,87)

( l washer
27.18(18,24) 2 0.445 N :
Tap dril e 11,03} 0.6

— T, 8L (17,3)
NPT d:ﬁ Position g -1
arientation Sealing
indicator washer

The instailation hole shouid

1/2" American
NPT Maunting bush Mounting bush
be deburred and clean
Hole
2055
{14)

Installation hole size

At 208400
=VATE . SZ55ZUWIUO . CUIT

Honeywell/Commercial Switch&Sensor



SUNSTAR

http://www.sensor-ic.com/ TEL:0755-83376549 FAX:0755-83376182 E-MAIL:sz2ss20@163.com

Honeywell
inch(mm)
Thread m16 Thread m16
x 2 pilch x 2 pitch
Frang nut ) ) i
Eriction RNy 32;"!1alne( Fixing nut Sgﬂltamer
washer vashar
Sealing 1 - 150
compression - - .50 max
grommet oS 3-5(% g;a"- us,vggggg ciaoz;%m (89)
" Fhay 2,28 Fioal 228
Pogition Float —1T travel (58) Float rravel (58)
indication —7 Pasition
arrow indication
Float stop L7 arrow
stop
3 0.87 max. @ 0.87 max.
(22,2} (22,2}
@\Hole{%}t}ao ob : 0.96 AFF Hole B 0.65 ob e 0,35 AF
o . ! .
@ (10) (16.5) K\'L‘“ (i0)
Installation hole size @? Installation bole size
The installation hole should The installation hale shoutd
be deburred and clean be deburred and clean
End view End view
Lock wasnel  geaung washer
—0.75
(20
[
Thread m16 x 2 pitch
Fixing nut
Friction reliet washer e Thread m16 x 2 piich
i i ' Fixing nut 2.65 max.
Sealing compression (67.3)
grommiet Container wall
Container
wall
- Pasition
Position ; i
L tat
indication arrow S1%Pg 5'az Ty ﬁ\rtl:l?cna?c;ron BUE7 max.,
@2.2) Float stop (22.2)
®/Hoge 2040 & 0.39 A/F 0.39 AFF
1 = 0.
@3 S (o Hole ©0.65 10)

Position (16.5) Positio
tnstallation hole size %"’J?c”lagro" Instaitation hole size P"QHa: on
The i Il hote shoul indicalor
Bo o e emould _ The installation hole should

End view

be deburred and clean

End view

Honeywell/Commercial Switch&Sensor

At 208400
=VATE . SZ55ZUWIUO . CUIT



SUNSTAR http://www.sensor-ic.com/ TEL:0755-83376549 FAX:0755-83376182 E-MAIL:szss200163.com

SUNSTAR Bk s AER M A . A=y TRE. . REESES . HoR&EW. (5 B RS 5E
H— R AR A, e m R T AT K, R 10 2R s i L oA
HER RS, A S R i K G A 2R BN AR 278 R R A T B R B i 2 — e — &K
MV ARERFN 23 81 tH A5 K 1C 85 7 RV o2t FE B A B & G R E PR A W], T &g ik m
FE= 2] Wi ootE, 85, Rsra. dis, doats I Bilg. Page, R AR A
L 11T A LR 40 2 W) R il JE s A i 1 1) T o S R RIS B R, A4 S Bl P o ok
RGPS FIAREL A R N 4 . TRATENARBEZ A . TFRA 7o th . SRk, fB%
ey O B IC AT LAEHI/DOC/DOM HiF4it . & I L . B HLIF & - MCU/DSP/ARM/FPGA
B AR SRR BROAE, RIETTEE i I SR O R L 7 AR L AR
REAH T RBCE R o R BTE SO A WA PE R R, A H B T2 2 s ——A B
TNVARR W Z BRI 22 R R 2 (P ZE L) KA M T 1 B I i B2 A 5T 1) i g LA I 4 J ks
Pedmik . ST P =B AL 7 ICaR A, IR R ) L
B2 P A AN A F L F A Rk
T s EAL R Es BHY S B http://www. sensor—ic. com/
WA T2 i : http://www. pc—ps. net/
FIrIAH T Iegs ™ : http://www. sunstare. com/
i T IA TR G L I HT TP : //www. rfoe. net/
R IA T 2 HL T B/ /www. icasic. com/
B 9TI S B 2 i 199 -/ /www. sunstars. cn/
B IR A 5 ALk
Huhk: ERYNTH AR HH DX AR A 2% 4 DO I8 KT 1602 =
HLi%: 0755-83370250 83376489 83376549 83607652 83370251 82500323
fEE.: 0755-83376182  (0) 13902971329 MSN: SUNS8888@hotmail. com
ME%k: 518033  E-mail:szss20@163. com QQ: 195847376
DRYIBERS RS0 IRYIERAL RS FE A% F 1 T173% 2583 %5 Hiif: 0755-83665529 25059422
BARZH: 0755-83394033 13501568376
WANZZ IR R A PR WO RRADEE L, RERISS, Wk A,
e oy Aw]: ARt IE X AR 132 5ok i1 KR 3097 5
TEL: 010-81159046 82615020 13501189838 FAX: 010-62543996
By AT BT ZR B 668 5 LI TR LT 11T 2B35 5
TEL: 021-28311762 56703037 13701955389 FAX: 021-56703037
Pa2 oy ol PR T RIX 20 B 1 L R AR P SRR ST T)
VU255 B 88 5 L TR % D23 5
TEL: 029-81022619 13072977981 FAX:029-88789382

SUNSTAR http://www.sensor-ic.com/ TEL: 0755-83376489 FAX:0755-83376182 E-MAIL:szss200163.com


http://www.sensor-ic.com/
http://www.sensor-ic.com/
http://www.pc-ps.net/
http://www.sunstare.com/
http://www.rfoe.net/
http://www.icasic.com/
http://www.sunstars.cn/
mailto:suns8888@hotmail.com
mailto:szss20@163.com



